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Adding and subtracting 10s m
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First, I added the ones. I remembered

that 30 is 3 tens and 0 ones.
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0 a) How many @ are there in total?

b) There are 65 people at the fireworks.

40 of the people are adults. JosEa0i=i0
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How many of the people are children? Tiiseejaneri e oot
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Unit 2: Addition and subtraction (1), Lesson 8
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Unit 2: Addition and subtraction (1), Lesson 8

I could have ) )
used columns to e A tray contains 10 pieces of toffee.

work this out. i ” < ’ < -

40 pieces of toffee are sold.

How many pieces of toffee are left?
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There are D pieces of toffee left.
Think together S

0 How many are there in total?
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e Find the mistakes in the calculations.

T EEB What is the correct answer?
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I could have used

There are [:] I in total. a number line to
work this out.
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